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QUESTION 1

You must replicate to IMS Queues. Which product in the Oracle GoldenGate portfolio should be used?
A. Oracle Goldengate for Big Data

B. Oracle Goldengate Application Adapters

C. Oracle Goldengate Veridata

D. Oracle Data Integrator Adapters

Correct Answer: B

Reference: http://www.oracle.com/webfolder/technetwork/tutorials/obe/fmw/goldengate/11g/
GGS_Sect_Config_from_WinUX_ORA_to AMQ_JMS.pdf

QUESTION 2

Which database setting for the Oracle 11.2.0.4 database is required to enable Oracle GoldenGate?
A. ENABLE_GOLDENGATE_REPLICATION=true

B. ENABLE_STREAMS_REPLICATION=true

C. Configure the STREAMS_POOL_SIZEdatabase parameter

D. ENABLE_DATABASE_REPLICATION=true

Correct Answer: A

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GIORA/setup.htm#GIORA983

QUESTION 3

You must synchronize the starting point for Replicat with the restore point of the target database. How should you

accomplish this?

A. Use the command option AFTERCSN.

B. Use the command option ATCSN.

C. Use the command option UNTIL CANCEL.
D. Use the command option RESUME.

Correct Answer: A
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QUESTION 4

You have a source table with a PRODUCT_ID column and a target table with PRODUCT_DESCRIPTION
column. On the target database, there is a lookup table containing product codes and corresponding
descriptions.

What should you use to look up the PRODUCT_DESCRIPTION for each transaction?

A. SQLEXEC ()

B. DBLOOKUP ()

C. DBLOGIN ()

D. SQLLOOKUP ()

Correct Answer: A

QUESTION 5

You installed GoldenGate on your server, but you received an error when you tried to start GGSCI. What is the reason
for this issue?

A. The incorrect version of GoldenGate was installed for your CPU architecture.
B. A license key must be applied first.

C. GoldenGate Manager was not started first.

D. The LD_LIBRARY_PATHVvariable to $ORACLE_HOME was not set.

Correct Answer: A
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